
15 2

1 18 3

25

16

204

17

5

7

8 22

12

13

6 21

109 23

11

14

24

Crossword Puzzle

Across
  1.  An insect is one.
  2.  A form of protection where an arthropod looks like another arthropod.
  3.  How many legs does an arachnid have?
  4.  An arthropod with eight legs is a member of this group.
  5.  An arthropod with six legs is a member of this group.
  6.  Egg, ______, Pupa, Adult.
  7.  _________-skeleton.
  8.  If an arthropod has mouthparts like a straw, it must __________ its food.
  9.  This arthropod lives in a society.  (Do #23 Down first.)
10.  We may group arthropods by the number of ________ they have.
11.  This arthropod lives in a society.  (Do #23 Down first.)
12.  Every arthropodbegins life as an ___________.
13.  The mosquito has mouthparts like a ___________.
14.  When an arthropod sheds its old skeleton it is _________.

Down
15.  Egg, Larva, ___________, Adult.
  2.  The _____________ goes through a complete metamorphosis.
16.  The _____________ eats the juice of the potato plant.
17.  Members of the arachnid class.  (Hint: the tarantula is one.)
18.  Insects have ________ pair of legs.
19.  Crustaceans have at least _________ legs.
20.  The ________________ is a member of the crustacean class.
21.  The last stage of complete metamorphosis.
22.  The grasshopper uses its mouthparts to _____________ its food.
23.  There are more arthropods on ___________ than any other animals.
24.  Insects have _______ legs.
25.  Arachnids have _________ pairs of legs.

Choose your answers from
the following words:

CRAB
STRAW
EIGHT
EARTH
CHEW
FOUR
ARACHNID
BEE
TEN
MOLTING
APHID
EXO
SPIDERS
ARTHROPOD
SUCK
ADULT
LEGS
THREE
LARVA
MOTH
ANT
PUPA
SIX
MIMICRY
INSECT
EGG


